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Daily Problem #10 February 14 

 

In the OLG model the only way for people to survive in their old age is to save in the form of 

physical capital. Suppose, hypothetically, that the marginal product of capital declines very 

swiftly as capital intensity increases and, in contravention to our normal assumptions, 

actually becomes negative when capital is in great abundance: more capital leads to reduced 

output. 

 

1. Could it ever be socially optimal for young people to save so much and accumulate so 

much capital that the MPK < 0? 

2. Could it ever be privately optimal for an individual young person to continue to save and 

accumulate more capital if the MPK < 0? 


